
Find the values of sin 2 , cos 2 , and tan 2  for the given value and interval.

2. tan   =  , (180 , 270 )

ANSWER:  

;  ; 

4. sin  =  , 

ANSWER:  

6. tan   =  , 

ANSWER:  

8. cos   =  , 

ANSWER:  

Solve each equation on the interval [0, 2 ].
10. cos 2  = cos 

ANSWER:  

0,  , 

12. tan 2 − tan 2 tan2 θ = 2

ANSWER:  

Ø

14. cos 2  + 4 cos   = –3

ANSWER:  

eSolutions Manual - Powered by Cognero Page 1

5-5 Multiple-Angle and Product-to-Sum Identities



Solve each equation.

24. 1 – sin2    − cos 2  = 

ANSWER:  

+ n ,   + n , where n is an integer

25. cos2   −   cos 2  = 0

ANSWER:  

+ n ,   + n , where n is an integer

26. sin2   − 1 = cos2 

ANSWER:  

+ n , 

27. cos2    – sin  = 1

ANSWER:  

n ,   + 2n , where n is an integer
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